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- QUESTIONS ON ATOMIC STRUCTURES, ATOMIC MOLECULES
AND ELECTRONIC CONFIGURATION. o
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. 1. Which of the following series of spectra line is in the UV region? |
Y (a) Balmer (b) Paschen  (c) Lyman  (d) Pfund 4 };_"
Use the Notation ;'X to answer question 2 - 4
2. A and Z respectively are "‘:4
(a) Atomic number and Mass number F

(b) Proton number and Mass number

(c) Mass number and Atomic number ’
(d) Mass number and Neutron number |
o The difference between A and Z (A - Z) will give

(a) Number of proton  (b) Number of Neutron
(c) Number of electron (d) Mass of the Nucleus
4, A is made up of
(a) Proton and Neutron (b) Proton ad Electron
\ (c) Nucleus and Electron (d) Neutron and Electron
e 5. "The Region outside the nucleus, where there is highest probability of |
e : & electrons is known as .i
Eﬁ B s (d) Orbitals )

i (a) Path length (b) Ware l.ength (C)BOrbits
g o The electronics conﬁguratlonzof 2Ca 60.anzd QL i
t (@) 1822822P63823p6482 and IS %S 22p _zS %p 5
. (1) 18257235745 3p' and 18°28" 2513 3p
- - (o) 1S2572P'35: 39 and 872" 38° 2P 3p"

i':'- (d) [§72572P"38" 3p” and 15728 2P° 38°3p’ 1
The degeneracy of the d - orbital 1s N
@2 (405 D4 . _ o
; lectron in the energy level of 3 will have the following quantum
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)He @_Ll f_-(yd-')Ne T, o mr
r the shell \-.Zthe possible yalues of 1 are: 3 & s ‘.‘
2 4.:-;(b)2 34 5(c)0,1,2 3 (d)4,8;2,17 " SRS
" valu

,'5’

s of m for n subshell with I = 1
(c)123 (@) 121

’t--‘.possfble va]ue of spmff] ‘ an

“"(A)% b1

- How many orbltals are fou

“fc). 0 (@ 7
nd in a d subshell?

F " 2pelectron? - | :
L e (A)1,0.0-172 (b)200+1/2 (c)20,1, 1/2 (d) 2,1,0,-1/2 g
- 16.  Whichofthe following gives a 3-dimensional model of the atomlc "

"*i,i’(A) Bohr (b) Rutherford (c¢) Schrodinger (d) Mendeleev.

wE; (1 7) ~ What is the maximum number of electron in the orbital that has the
s ~ follow quantum numbers n =2, 1= 0, m = 0? .
= A6 - (b) 2 (c) 10 (d) 14 o
18.  For the shell n = 3, the possible values for L, are EPR e
(A)1,23 ®2LL o )0,1,27 . (d)32] |
19.  Which of the following is a possible set of quantum numbers fora
3p electron? 3

(A)3,00-2  (b)3,1,1,+1/2 (¢)3,0,1,1/2 (d 210 Va
20.  Which of the following is an allowed (el N ..
B e ¢ ‘comblnatlon of the n, 1 and
(e, Tl aB120, 158 0 (02,00, (d) 2Ll

% 21. On hydrogen atom emission A : i
level to n =2 is designated aE;“l)ectrum a drop from hi gher energy

. (A) Lyman series (b) Balmer Serje
ST : s$(c)P
ki . 2,2,_ Which of the hydrogen atom eml(ss)loss :h entfuenes (&) FpdR to the
- ultraviolet region of the cmr? PeatriI o
N mmmm A ro
i NWMmcnm WAGC (1703283413 w} |
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- Which of the following is false?

e _
- (A) The atom of an element all has the same mass number

- (d) IS’2S'P*3S°3p” and 187257 p°3p’

(B) Atom of different

d’s‘mle - (b) Aufbanprinciple © g C e

eXc]us;Qn prlnc1ple(d) Ruther ford rule. ok

(B) Th¢ atoms of an element are identical, but different from atoms
of other elements vk R i R, Ty -
(C) Mass number = atomic no + number of neutrons

| : (D) I ammu = one twelve of the mass of one atom of °,C.
- The electronic configuration of CL and CLﬁrespeCtivély are 4
- (8) IS2S'P38%3p’and 1828 p*3S%3p° ot Rt
- (b) IS2S°P*3S73p° and 12287 p38%3p’° R Sl

tl

(C) IS28°P’3S'3p’ and 1S°28” p*38™3p°
Two Isotopes of silver hasatomic weight of 106.91 and 108.909. If
the relative atomic mass of silver is 107 the % abundance of the

isotopes respectively are
(A) 6.45 and 993.55  (B)4.45 and 95.55

(C) 6.45 and 93.55 (D) 95.55 and 4.45
The probability of finding the electron at a point or in a region of

space is "k
(A) Unknown (b) Orbit (¢) Quantum No (d) Orbital
Light scattering experiments was performeq by

(A) Schrodinger (b) Louis de-Broglie

(c) Geiger Muller (d) Ernest Ruthc?rford.

One mole of a chemical substance contains

(A) Faraday numbers of parti_cles
(B) Quantum number of particles

(C) Atomic number of palt:tic;lret§ 1

D) Avogadro's number of particies :
(Sta)temexgut of Dalton atomic theory include the following except
ch element are identical

(A) Atom of ea ’ ica
element are 51m1la1f
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of
7= Atomic number
AndA=Z+N

- OptionB

Where Z = Atomic Number

N = Neutron Number

Option B af

i =7+

ilic&';‘ss I%umber, 7 = Atomic / Proton nu

N = Neutron No

. N=A-Z

Option A +. |

Atomic mass is made up of both positively charged proton and neutr

neutron in the nucleus of an atom.

A=Z+NorA=P+n

Option D ' ;

The orbital is the region around the nucleus of an atom where there is
he ware function whichat

highest probability of locating an electron, t
solution of ware equation are commonly called orbitals

Option C

mber 1

- Ca” =IS°25°2P'38 3p’
. CI=18"285"38" 2P'3p’

Option C

The degf:neracy of d orbital is 5 which are d_, d_, d_, d,.and d,
Proof: Since s =0,p=1,d =2, f=3 where B’ 1_\'\:) w22 )i] w}f
quantum numbers, L, , 1,2, 3 are the
M=2(2)+1=5

Since the quanty ' 3
vt o mn“mbersaren’L=0toL=n-1,m1=-Lto+L

L

M,
——— Ms

ITOD.
i I"m.i' ANV Clinirse 2
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15,

14.

: tion C . -
%ll)e ll?l?mber of orbitals in a subshell is determined by the Magnetic quantum
no, M,Since _ .

Value for d subshell is 2

-0 1=2@ 155
J5.

o particles is a helium nucleus with Mass
represented as ‘' He

Option C

A21mut.hal quantum number L is the number of subshell is in a shell and (it
determines the shape of orbital.

(It is Integral values are

L=otol=n-1

L=otol=4-1=3:0,1,2,3.
Option B . 1
The possible value of magnetic quantum number in for a subshell with L =1
are-1,0, 1

of 4amu and a + 2 change. Itis -

IfL=1,M=-Lto+L=1,0,+

Option A . : _
The spin quantum number is £1/2 and it describes the spin property of the
electron either clockwise or anti-clockwise.

a
ald
1
1
1

4

Option D .

L=1¢+
2P - represent the subshell pie
2 Reprgsent the principal Quantum number =n=2

d b1
S P .
b b 12 12

L .
o(s)

£1/2

ML | WS
A | |
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¢ 'um electron in the S- Orbltal is 2 because m
the number of electrons top two per orbital. g

| 7|
M, s 4
0 : vk a
-1,0,+1 o |
2:1:0.+1,+2 9
M,
U
-1,0FT
2.1.0+1;+2

~ Balmer series lies in the visible region and originates when electrons
moves from any outer orbit to the second orbnt

i | (Or first excited states)
w543 > 1, = 2

mar series lies in the UV reglon and originates when electrons moves
Mm outer orbit to the ground state (n = 0) or first orbit A
A mﬂ' ...5,4,3,2, >, = 1 A

-l‘.: : ‘ 'lﬂ
nature of electron gives rise to the concept of orbital. The )
| of z:mm is demxbed in terms of probability of finding it in@
at any nme

Mﬁiﬂq & P uwﬂ* i, \ ‘1“ i“-;

“ «yn y ‘. Lo
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. Option D yiobh sl | Wil 2w L
' B f ‘ 5 o ey YR LU
T 1 mole of a substance contains 6.023 x 10" numbers of particles. This .

. number is referred to as A 'sn
el 8

b ~ Questions on Periodic Table : )
1.  The following are the trends observed in the periodic table of elements
except o v :
(A) Atomic radii increase down the group.
(B) Atom size decreases across the period
(C) Ionization energies increases across the period
_ (D) Atomic size increase across the period.
2. Why does sodium not form the Na* ion in its compounds?
(A) Because of low 1st ionization energy
(B) Because of high electropositivity. , |
(C) Because of high 2nd [onization energy , Ay

(D) All of the above. il s i‘:

Answer on Periodic Table . ' e

1. Option D

Atomic size increase acl iod of inco . tomic si
decreases across the period progressively with increaSing atomic numbt

This is because when moving across a period, an electron and proton
added to atoms. Thus there is a greater attractive force betl‘fv,,ﬁm ihz _
| the electrons cduSinga decrease inatomicsize. _
e e L .
BLRS | Questions on Stoichiometry &;; ‘-. LAY
ation below to answer quesﬂon“ﬁ and 2 d s ';' A ?T,r?,i i‘f. i
. MWCLW . s . e ff- \“ G “,J"- . u‘ w\'
,+3KCL+12H0 |

w %
" &
g

omic size

across the period of incorrect because at

do L UOGREE




ass of Kmn0, is consumed?

(b)264g (c) 1802 (d) 160g
v many grai d?
e, y many grains of MnCl, are produce
 (A)60.4g (b) 56.6g (d)70.2k @210g
' 26cm’ of a solution containing 10.5g of impure hydrochloric acid solution in

2350cm’ titrated against 75¢m’ of 0.IM sodium trioxocarbonate (iv) solution.

* Calculate the concentration of the pure acid in mole/dm3.
e 5)0.2913M(b)0.3923M(c)0.1528M(d)O.lS]SM(e)O.1923M :
Methane is converted to carbon dioxide and water when burned in a
plentiful supply of oxygen (complete combustion).
i CH,(g) + 20,(g)——>CO.(z) +2H.0 () o
I 10g of CO, were obtained when 16gof CH, were burned in a limited supply of
gas, what would be the percentage yield of carbondioxide?

- oxygen
O (A)23%(b)2.3% (c) 11.5% (d) 62.5%
e s Zinc reacts with heated copper (II) oxide to form zinc oxide and copper
.4 metal. If 3.0g of zinc are reacted with 3.0g copper (II) oxide, which is the
g excess reagent? What is the mass of copper metal formed?
S (Cu=63.5,Zn=65.5)
5 . (A)Zn,0.045g (b)Cu0,291g  (¢)CuO, 24g  (d)Zn,2.4g
6. A standard solution was prepared by dissolving 2.6061g of Anhydrous
Sodium Carbonate in deionized water and the solution diluted to 250cm’. A
25¢m3 portion of this solution was titrated against hydrochloric acid, uSing
. a suitable indicator. The end point was reached after 18.7cm’ of acid had
i been added. Calculate the cone of the acid (Na=23, CL=35.5,C=12)
E - (A)0.098m (b)9.263m (c)0.131m (d)0.98m
ﬁ- How many moles of Mg,N, will be produced by Reaction of 1.50mol of Mg
ar with excess N,? (Mg =24,N=14)
Y (A)0.100mol  (b)0.260mol (c)0.400mol (d)0.500mol.
B 8. What mass of Li,N will be produced by the reaction of 2.75g of Lithium
“ E metal with excess nitrogen gas? (Li=6.9)

(A)4.5g (b)5.49¢ (c)45.9¢ (d)54.9

Iron (I1) Sulfate is oxidized by potassium permanganate in acid solution.
The overallionic equation is

5Fe:’ (aq) + MnO, (aq) + 8H (ag) --->

Mn”(aq) +4H.0 (I) + 5Fe” (ag)

2W5|W00 vglume of 0.010mol dm” Iron 1I sulphate will be. oxidized by
; ( A. 2;5’ 30f0‘020moldm" permanganate solutipn? .

» Ca%culgz tl:e Mas(B)250cm : (¢)2.5em’ (d)2500cm’ -
W in the \‘voxig;:zijphugiac;f (The chemical produced) in the largest
'nage in the world produced by the reaction of 5 metri k

w hurinthe following sequence ofrenctions metric tons (5.00 x 10°g)

o' 5 ‘
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12.

13.

14.

15.

16.

1 J s /

- 25dm'g of a solution containing 3
e nfa:eﬁ’&ﬁzed by 30cm’ ofg@.%
- Calculate the concentration of the pyre ] i

2NaOH (ag) + H SO, (a) 0y

(A) 0.14mol/dm’  (b) - !
0.2 / ina?
©  Omolin’ (@ o lomoldn

(A)352¢ (b)552¢ c)452 d)424
The number of mole of sodium carborfat)e in S%Sg of the s(alz is ;
(A)0.28 . (b)0.08 (©2 (d)18
~ The percentage composition of sulphur(s) In FeSO,. 10H,)is
(A)6.9% (b)5.6% (c)9.6% (d)5.8%
Calculate the number of ions present in 2 moles of potassium on
(A)6.02x 107 ion (b) 12.04x10”ion
(€)6.02 x 10%ion (d) 12.04x10™ion.
Answer to stoichiometry

(€)5.3x }w iy . ‘ . PR

of Impure Sodium hy
m tetraoxosulphate (vi)
moles/dm3.
>Na,SO,(ag) +2H(L)

3
20.500;11 of Q.IM HNO; was titrated against 25c¢m” of 11.14g of X.CO,.10H.)
per dm’ solution. Calculate the molar Mass of the base X,CO .10H.)~ .
(A)386gmol’  (b) 1.86gmol’  (c)286gmol” (d)486gmol’
C?lculate the Mass of the solute present in the following solution:
trioxocarbonate (iv) in 2dm’ of 2M solution

Option B .
3KMn0,+ 5Fe+ 24HCL-——> $FeCL,+3MnCL,+3KCL+I12H.Q

3 Mole of KMnO, reacts with Smoles of Fe
-.5(56g) of Fereacts with 3 (158g) of KMnO,
.. 156g of Fe reacts with (156 x374
28 « |

= 264g of KMnO,

Option D .
3 Moles KMnO, produces 3 Moles MnCL, i

3(158g) KMnO propduces 3(126g) MnCL,

47g KMnO, produces 378g MnCL,
264g KMnO, produces (264 x 347 8) MnCL,
47

=210.53g




[ IO 8T

(d)210g

(quced

(d)

Sem’ of 0.IM sodium trioxocarbonate (iv) solution
of the pure acid in mole / dm3.
10.3923M (c) 0.1528M (d) 0.1813M (e) 0.1923M
wverted to carbon dioxide and water when bumed in 4
upply of oxygen (complete combustion).

+20.(2) >C0,(g) +2H.0 (1) i
re obtained when 16gof CH, were burned in a limited supply of
at would be the percentage yield of carbondioxide?
)23% (b)2.3% () 11.5% (d) 62.5% : _
Zinc reacts with heated copper (II) oxide to form zinc oxide anfi copper
~ metal. If 3.0g of zinc are reacted with 3.0g copper (II) oxide, which is the
~ excessreagent? What s the mass of copper metal formed?
(Cu=63.5,Zn=65.5) : '
(A)Zn,0.045g (b)Cu0,2.91g (c)CuO,2.4g (d)Zn,2.4g
A standard solution was prepared by dissolving 2.6061g of Anhydrous
Sodium Carbonate in deionized water and the solution diluted to 250cm’. A
25cm3 portion of this solution was titrated against hydrochloric acid, uSing
a suitable indicator. The end point was reached after 18.7cm’ of acid had
- beenadded. Calculate the cone of the acid (Na=23, CL=35.5, C=12)

- (A)0.098m (b)9.263m ()0.131m (d)0.98m
How many moles of Mg,N, will be produced by Reaction of 1.50mol of Mg
withexcess N.,? (Mg=24,N=14)
(A)0.100mol  (b)0.260mol (c)0.400mol (d)0.500mol.
What mass of Li;N will be produced by the reaction of 2.75g of Lithium
metal with excess nitrogen gas? (Li = 6.9)
- (A)4Sg (b)549g  (c)45.9¢ (d) 54.9¢
- lron (IT) Sulfate is oxidized by potassium permanganate in acid solution.
-y ‘The overall ionic equation is
s ¢’ (ag) + Mno, (ag) +8H (ag) -—->

 Mn*(ag)+4H.0 () + 5Fe" (ag)
7 Voslume of 0.010mol dm” Iron 1I sulphate will be. oxidized by
’ »@0@ :3f0~()20moldm'3 pe€rmanganate solutipn? @

B 250em ()2, 5cm’ (d)2500cm’
BMass of sulphuric acid (The chemical produced) in the largest
%‘:g;}?o&‘:f;::d by the reaction of 5 metric tons (5.00 x 10°g)

quence of reactions,

.
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13.

14,

i

16.

~ was neutralized by 30cm’ o
wa y 30. f 0.
'; - Calculate the concentration of the pl

’ (b)1.35x107p i

e o ; o:t:i}noing ,, 5310 (@310
g 3g of Impure Sodium hydroxide in 250cm’

‘3; Ige;r?)zc?sulphate (vi) Acid Solution.
INaOH (40)+ SO, (0)——>NoS0,(ag) + 20
@A) 0ldmol/dm’ (b)  020mole/dm’
() 024molidm’  (q) 0. 19molidm
20.500211 of Q.IM HNO, was titrated against 25cm’ of 11.14g of X.CO,.10H.)
perdm solutl_(l)n. Calculate the molar Mass of the baseX.CO,.1 OH.)— | -
(A)386gmol’  (b)1.86gmol’  (c)286gmol’ - (d)486gmol’
Cfilcula_te the Mass of the solute present in the following solution:
trioxocarbonate (iv) in 2dm’ of 2M solution

(A)352g (b)552¢ c)452 d)424
The number of mole of sodium Carbo:fat)e in '8g.5g ofthe s(alz is 3
(A)0.28 . (b)0.08 (©2 (d)18
~ The percentage composition of sulphur(s) In FeSO,. 10H,)is
(A)6.9% (b)5.6% (€)9.6% (d)5.8%
Calculate the number of ions present in 2 moles of potassium on
(A)6.02x 107 ion (b) 12.04x107jon
(C)6.02x 10%ion (d) 12.04x10™ion.
Answer to stoichiometry
Option B

3KMn0,+ 5Fe+ 24 HCL-——> 5FeCL,* 3MnCL,+3KCL+12HQ

3 Mole of KMnO, reacts with Smoles of Fe
.5 (56g) of Fereacts with 3 (158g) of KMnO,

.. 156g of Fereacts with (156 x474)
280

=264g ofI(MnOJ

3(158g) KMnO,propduces 3(126g) MnCL.

47g KMnO, produces 378g MnCL.
264g KMnO, produces 264 x378)MnCL;
474

=210.53g




30!1 ?"M
280

q P ‘(;.

IR
lesonn 3.0= 00458moles
i 65.5

u. %ﬁa&’”moles of Cu0=3=0.03774moles
- " L e e
 ImoleZn+ 1mole CuQ —--—>1 mole ZnO+1 mole Cu
0.0458 mole 0.03774mole  0.03774 0.03774
~ 0.03774mole  0.03774mole  0.03774 0.03774
- 0.00806mole T R =

-t j‘- 1 lsexcessreagent
“"ﬂtﬁﬂé of Cu=Mass of Cu

-'.l S5
- MolarMass
. : - MassofCu=0.03774x 63. 5grrlol1
. ~;§ =24g
~ OptionB
2500!1! Solution contains 2.6061g
%CO;
"' lmm Solution contains( 000x2.6061)

B e 250
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R
Hantig) B {
B 7

2 H130
3 ’i

‘ L 0.5mol
2.N. produced is 0.500mol

MoleofL, =2.75g=0.3986 mole

6.99gmol’
.il.,‘h % N_,--- ----- > Li,N
3mole 0.5mole 1 mole
0.3986mole 0.066mole 0.133mole
=0.133mol x 34.7gmole -
=4.59g
‘Option B
COAG vaAG o n()AG'

CBM‘- XVBM" Npac

0.020x25 = T

0.010x Vg6 5

V,,.=250cm’ of FeSO,
Option A
S(s) + 0,(g) —-——>50.(8)
32g of Sulphur produce 64g ot SO,
500 x 106g of Sulphur produce (5 x 106 x 64) SO,
32
=1.0x107gSo;
80, + 120, pmgm> > S0;
64g of SO, produce 80g of SO,
1.0 x 10'g of SOproduce (1.x 10" x 80) g of SO, i
64 4
1 25 x 10,gS0, produces (1.25.x 10" x 98) gH.S0,
80

- 1.53x 10gHSO,
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ONKINETIC THEORY OF MAT TER -
following is not true of kinetic theory of gases? :
ules of a gas are in constant motion moving in straight line
ith'ey collide with the walls of the container or with apother molecule
as the molecules collide with the walls of the container, they exert 3
- pressure on the container _
() If the volume of the container is decreased, the molecules collide
~ mere frequently with the container and pressure increases the case is reserve
as the volume of the container is increased
D) None of the above
Determine the volume of ozone formed on containing 9.0m’ of oxygen
containing 0.3mol oxygen at latm and 25° C to ozone at the same
temperature and pressure.
A) 6.0m’ B) 9.0m’ C) 2.7m’ D) 25.0m’
Calculate the molar mass of a gas with a density of 2.5g/dm’ at 298k and
- 110kN/m’*(R=8.314 J1kmol)
A) 56.3g/mol  B) 101g/mol C) 5.6g/mol D) 20.5g/mol

4. Calculatfe t}‘ie mean square velocity of a 50g molecule at a pressure of
;:ﬂ%: f;\s/;:ctt}il‘a:; lt;le volume of gas and number of molecules are 50m’
A) 5.6m/s B) 4.2m/s C) 5.5m/s D) 0.5m/s
Calculate the total pressure of a gas mixture that contain 2.5gof 2,4.5g
of H, and 5.0g of He in a 25L gas cylinder at 25°C "
A) 3.00atm ~ B)4.00atm C) 4.448atm D) 3.48atm
~ Ondecomposing a 25.0m" NH, gas accordin g ;

- cylinder with put on It was found that th gy aierag below S

~ from 100m3atS0N/M'. Whatis ¢ volume of the cylinder increased

> 4 € work done by the ?
JSTSONM  B)-30STNM  )-375000m Syg)eg]dﬂ NM
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13.
14.

15.
16.

A

18.

19.

20.

4 3

s L
ntair 5:0‘%1 “moles of I

ot O digco d
1¢ molarity of the solution?

§ 'h | A .4M B) 0 ) o Iz s
Y 2 02M  CooMm -
1. The molarity of H' ions in the solutionis

12

. A00M - B0OM  0)00M  D)002M AN
Gas molecules are said to be perfectly elastic because o] s
A) The volume occupied by them are negligible Aok 3
B) They move about in straight lines =t
C) The distance between them ate negligible 9 - (T (a -

For how long must a current of 0.2A need to pass through solution of
AgHO, to deposit 0.5mole of silver (Ag=108, 1F=96,500c)

A) 38,600s B) 9650s C)96,500s . D)241250s

A gas occupies 172cm’ at 30°c. At what temperature would the volume of
the gas be halved? § o '

A) 0.88k B) 0.087k C) 15k D) 152k E)15C
What are the relative rates of diffusion of hydrogen to nitrogen gases?
A)1:4 B)4:1 C)81 D)4l E)l:14 o

What volume would a gas atstpif at430C and 720mmHg? It occupies 21.4cm’

A) 528cm’ B) 378cm’ C)412cm’ D) 252cm’ E) None

A polar substance dissolves in solvent and a non-polar substance
dissolves in solvent F

A) Like poles, unlike poles B) Non polar, pol'ar

C) Polar, non-polar D) Unlike pole, like pole -

Gas law are combination of g . and . laws

~ A) Boy's, Avogadro, partial, gay

B) Boyle's, Charles, Avogadro and Dalton’s.
C) Boy's, Gay-Lussac's, Charles, Dalton
D) Boyle's, Charles, partial, Dalton

_ . equation T=? o .
For an ideal gas €q D) PVn/R

C) Centripetal and centrifugal

A) Pn/VR B) PV/nR C) Vn/PR 2
Ce)llcglate the number of molecules in 0.5 of the gas at a pressure of 2.0x10'kpa
and a temperature exactly 30(:)5 k |
A) 1.2x107 B) 3.6x10
According to KMT of matter,
A) Centripetal and cohes1ve

C) 2.4x10” D) 4.8x10°7 )
two forces are in operation. They are ;
B) Disruptive and centrifugal
D) Cohesive and Disruptive: |
i ich of the forces predomipate? 1 poitgO 0

R vg; Disruptive C) Cohesive D)C \ 42
inates in a liquid matter
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ben e Adsorber. Absorbent '
are étof t[l)ll basic postulate of kinetic molecular theory

il shie’ L) .
matter except us rapid and random motion

r consist of atoms or molecules in contino S

! gial;etic energy of the atoms OF molecules is indirectly
system _

ther and therefore possess

elated to the absolute temperature of the
C) The particles attract and repel one ano
E'.‘:'uf energy

D) Energy is transferreﬁ from one particle to another by collisions, but

~ the collisions are elastic with no net loss of energy.

"4

Answer to kinetic theory of matter

Option D e

Kinetic theory of gas states that

I. The molecules of gas within a container are in state of constant rapid
motion in all possible direction i.e. they move in a straight line
colliding with themselves and the walls of the container.

I1. Every gas consists of a very large number of tiny particle called molecules.

I11. The pressure exerted by gas molecule is as a result of continuous
bombardment on the surface of the container by the gas molecule

IV. The absolute temp of gas molecule is a measure ofkinetii:'energy in gas.

Check our website for solution

Option A

Question not clear

Option

h u,am, sl bm‘v elastic with nn lace ~f onarov
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© Cohesive force is predominating in
~ areclosely bonded together.

. “'“l

RN 9t ‘Wl H b o
SOl - he 1ce partic

24. .;,,,th!on,B 7 H swrbeda A Yo slomSG 0
25"' 'Opt'lon D- : *TRAA : ol nioqul)

2.  Option C ‘ He s
21. Option B | snnvitvioil

QU_ESTIONS ON THERMOCHEMISTRY ' T,
L. If the specific heat capacity of Benzene is 2.4 J/g c. Calculate the -

temperature change when 1625] is removed from 75g of |
benzene initially at 25°c
A) -25°c B) 50°c C)-9c DY 298
2, If the heat absorbed by 50g of NH, gas from the surrounding at
3 0°c was 50 at constant pressure. Determine the enthalpy change of the
chemical system _ : _
A) 7500] B) 50J C) 10007 D)70J
3. Determine the heat absorbed by 250g of water heated for

20mins and had a temperature increase of 45°c (specific heat capacity of
water = 4.184j/g’c ‘ - :
A) 47,070j B) 25500j C) 30,500) D)‘.101151_1

4. Determine the change in internal energy (AN) of a chemical system
undergoing an exothermic process with a heat flow. If 10.5] and the work

done by the system is 200j nk '

A) +210.5j B) +189.5) C)-210.5) D)-189,5J ‘ ~

5. Calculate the work done associated with expansion of
' ammoniagas cylinder from 200m’ t0 50m’ at a constant eXtema} pressure of

20N/M’ onedt b -
C) 270Nm D) -270NmE. . 1o ol
A) -600Nm BN volume of the cylinder and position

the \ (i
6. It was found thaf SON/M". What is the work ‘dtyul?e_., by %

e

increased to 100m’ at - e
~ system? |
A)3750Nm  B)-3057Nm C)-3750Nm  D)3057Nm

' acti low
the enthalpy of reagtlonbg R kst
et L I

v e
e UK

i b T Rl

i
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1 E)N the above , . ~:
N ' dEzoI::I;:I:ELivas 2dded to 45g of H:0. In 2 polysterene
L emeng - ipar ine the standard enthalpy change of solution of -
| Cup in Tdd: erAdeteﬂﬂT% e, S.H.C of KO = 4200kjkg 'k neglect SH.Cof
 thepolystyrene

A) 1000kj/mol  B) 2.8kj/mol

B 114 ” Nonef Ise on mélting a solid?

Which of the following is false onI Ao,
. xms:,l;igs wien :,mly meglt when the forces of vibration OVercomes the

iy

C) 0.284kj/mol

' binding forces | : AN . )
B) The presence of impurity in solids will raise the melting point of such
. solids | . .
L ; C) The presence of impurity may cause a solid to have a melting point
5“ - D) The presence of impurity in solids will lower the melting point on such solids

m&!ﬁ/ D) None

| K Given the information, calculate the lattice energy of MgCL(s).
Mg(s) +1/2CL,(g)—~>MgCL(s) s
+ AH'F = -128kj/mol

e AH"atom [Mg(s)] = +150kj/mol

i AH’atom [1/2CL2(g)] = +121kj/mol

e AH’ IE [Mg(g)] = +736kj/mol

% AH’ EA[CL(g)] = -364 KJ/mol

g 2 A)-7711 B) -862 C) 647
- : . D) 537
4; 4. Solid particles cannot overcome the stron g forces of attraction holding them
i txgether and therefore posses
4 B)) ‘\//ii:rl‘:ilgnnall, Rational and translational motion
1003 g na alnd I;otanopal C) Vibrational and translational

p o lﬂll“htlona‘ and Rotational  E) Vibrational only
Y A)mltmil m(? is a state function because
~ vithasystem wgic?xuitﬂ}lxe energies of all the atoms, molecules or icons

. B)ltismade up of cou] ::1 ll)mder the specific conditions of state

n ator energy between the electrons and the Nuclei

. i 0 }
RUCTOR IV ANY SUBJECT PLLASE CONTACY j
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22,

';. thermic B) Endothermic oi1gO
: b) m::lgﬁ‘::mCMIc nor endothermic ; e ? 2 G =4 l
e 4-p— Cg-lglzlg( E) Specific heat capacity C- = VATWA
A)-10K; =-1.0kj. Calculate AH for the reaction C+B">A+B H
J B) 20K C) 503Kj 02 01

k. M‘@ ‘ A_‘-__Mww‘

- o‘fZ is greater than that of x. Then the MMX., 7 o g

D) 10Kj E) 50Kj

What is th
ok ¢ relation between AH and AE for reactions which do not mvolve

A) AH=AE B) AV=0 C) AH = AE+PAV
D) AV is constant E) AV is too small A T

thliat 1s An gas for the combination of one mole of tungsten carbide WC,
when both reactants and product are at 298K?

WC(s) + 5/20,(g) = WO,(5)+CO.(g)

A)l B)%: ()32 D)2 E)-312

In which of the following reactions would AH be most nearly equal to AE?
A) 2H.(g) + O.(g)—2H.0(g) B) H,(g) +CL.(g)—2HCL(g)

C) N.(g) + 3H,(g)—2NH,(g)

D) CH,COOH(L) +20,(g)—2CO;(g) + 2H.O(L)

E) CL.(2)—2CL(g)

The enthalpy change (AH) for the reaction

92 .38KJ at 298K. What is AE at 298K? (R=8.31KJ g |

A)-2.0KJ B) 4.95KJ C)-87.43KJ

D) 8.314KJ E) -168KJ
ANSWER TO THERMOCHEMISTRY

Option C

Q=-1625j, m+ 75g , c= 2.4/g'C

Q=mcABS

AO=Q/mc =-9C

Option B _Qpi.e the change in enthalpy of a system is equal to

At constant pressure, AH
the heat given to the system
AH = AE+APV

AH = AE + PAV + VAP
If AP=0O

Le AH = AE + APV
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V.= 50m’, P=20N/m’

-V, =(50-20) = 30m’
constant pressure, workdone by Gas
V=PAV
- W=-20x30 =-600Nm :
B
~ 6.0ption C

- Workdone by the system is negative
 V,=25m’, V.=100m’, P=50N/M’
At constant pressure

 W=-PAV =-50(100-25)

- W=-3750Nm

2 | 7 Option D _

Q&ng Hess law of total heat summation

. N«lﬁs}_“_,Al-l,(product)-Z]AHf (reactant)
y+120,~5B,0, +9H,0

SXAH'F (B.0,) + 9x AHF® H.O)] - ¢
e (H,0)] - [ 2x AH F(B,H,) + 12AHF°(0,)]

Hp dfb.. 4
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7

~ AH=-1144KJ/mol + 72¢ T ol B
o AH=-414.8kj/mol ' HICIRL AL R &
11.  Check Answer on our we LS oA 100 (AR
' | ptfon B _ : bpage n st v ,‘
o Ei;;g:iznce of Impurity in solids will pass the melting point of sM Rl
Using Born - Haber cycle | £

14. Option E
15, Option A
16. Option A
AHF(N,) =0
17. Option B
If the heat of product is greater than the heat of reactant, the reaction is said
to be endothermic
Hp>Hr (Endothermic)
Hr<Hp (Exothermic)
18. Option D
Since A+B—C=D AH=-10KJ
| C+D—A+B AH=+10K]
The heat of reaction of the forward is the heat of reaction of the reverse.
9. Option A
20. Option E
21. Option E
22 Option C
Ny(g) + 3H.(g)— 2NH,
Angas = 2-4 =-2moles
AH = AE + AnRT
AE = AH -AnRT
Al = -92380]-(-2)(8.314)(298)
AE = -92380) + 4955.144
AE = -87424.856]
AE = -87.43KJ

QUESTIONS ON CHEMICAL EQUILIBRIUM

For reaction FeO(s)+0:(g)~Fe()* COo.(®) | i

If at 298K the equilibrium amount present are 2.5ypol FeO, 0.2mol

CO, and 4.0mol CO. calculate the equilit: ium constan

g0 UE i a0.4 (R
ROTRRTIN: Sy N

1




g (¢ o7 " e ». “
ez Y dj_/é%j \
N, (g) + 0:8) 1S considered to be at cquil

gl
I

o of N, and 0, are equal noirgl

[
g
I

centration g NOis twice that of either N, or 0, -
‘i"ilgli'e@onéemration of NOis equal tothe combined co.nccntratlon PR andp, 4
 The | to its rate of formatmn :

ol The rate of decomposition of NO is equa
S The relationship between the Kc and Kp is
 [AJKRpRT* BIKART) | :
C [CIKAKp() [DIKAKpRD)" i
6 = e* " Given that P=2.5x104 Nm~ and the % dissociatign of NOBr is 34% the-_
~ volume of kp for the reaction: 1
 2NOBr(g)—NO(g) + Br,(g) at 298K is
~ A)9385Nm” - B) 745Nm” C) 1013Nm” D) 11288Nm*
During the reaction H,(g) + L(g)<2HI(g) 0.5mole each of the H, and I,
~ were placed in the 4L vessel at 425°c until the equilibrium was attained.
The vessel was found to contain 0.44mole of HI and 0.059mole eachof -
" H. and L, the value of Kc is :
A)54.9 B) 72.0 0) 10 D) 872048
What is the kp for the reaction K
CaCO,(aq)—Ca0(s) + CO(g) is
[A] Kp=[CaO][CO.}/[CaCO;] [B] Kp = PCO,
[C] Kp = [CaCO,}/[Ca0][CO,]  [D]kp=[CO,] ‘
The value of Kp at 500°C for the reaction 3H, (g)+N.(g) <>2NH,(g) 1S
T 1.50x10’°’th§ value of kc is
| A)6.02x10°  B)4.8x10’ C)8.01x10°  D)2.1x10°
).  For the reaction =
 FeO(s) + CO@)~Fe(s) + CO,(g) ;
Lok zzzlgg_ :ﬂnl:; the effect of increase in pressure on the position of
~A) Equilibrium shift to the righ
Equ“s.h%:;‘;the lr;gﬂht C) No effect
ore o1 Lo, is produced T

%

'hat is the PH of 0.10m of NaO#? : -‘
-4 C)3.0 D) 13 " L
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At equilibrium K= [Co.)/ L AT 1

) 1 ~ co = g 2, “t‘\ 3 AJ 5 it - IS
P - J[ R e

Aeiyeotom Sty N

. , . pressure on th iti ilibrium a8
* homogenous gaseous o e position of equll_ibﬁ@h'ﬁnly act on | ¢

Y Question not complete
4. Option D ‘

A sys;tem 18 said to be at equilibrium when the rate of forward reaction is
equal to the rate of reverse reaction

R Option D ‘
- Therelationship between K is gi = e
p and Kc is given by Kp=Kc(RT,
OR Kc = Kp/(RT)"* T
6. - Option D
Check on website for complete solution

1. Option D
- Hyp) +I(g) —2NH,
I a b 0]
e -X -X +X
E a-X . b-x X
At equilibrium

[HI]= n/v = 0.44mol/1L = 0.44mL
[L,] =[H,] = n/v = 0.059/1L = 0.059m
Ke= [HI]/[H.][L]
Kc=87.2
8. Option B .
 Concentration of a solid sis expressed as unity 1
9. Option A
10. Option C
| g‘ Option D
. - Option B :
» '"l?sgn; Henderson-Hasselbalch equation

13.  Option C

v o ity -ot

Download mere-at Learnclax.com
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D)tand4

i ".Ilc)vsandl

C3and2 , A DHdemg

RS ond2 . C)6and3 D)4and2
order reaction has an - itial volume of 1.71m! after 9minutes y
become 4.49ml. Calculate the rate constant if the infinity -.:u:;
2min” C) 3.41x10°min” D) 2.54x10"min’
omplete at the end of 50mins. What is the
1

1
A) 1.41x10°min' B) 2.41x10
A field order reaction is 40% ¢
value of the rate contact in sec’
A) 1.82x10"sec’ B) | 90x10"sec’ C) 1.70x10"sec’ D) 1.63x10"sec’
What is the general form of a rate law?
[A] Rate = K [A]'TB] [B] Rate = KA'B"

[C] Rate = [K/A]" [K/B]” [D] Rate =R [A,B]"
between the specific rate constant and half-life?

What is the relationship
[A] T, .=8.314/k [B] T,,=9500/k
[C] T,.=0.693/k [D] k=2.303/T,,
Use the vinfom'mtion to answer the nexi two questions

| ? szec?mp.oiition of a;etaldehyde af1d cllcetin.e dica.rboxylic acid yielded results
- whose plot is log T against 1/T gave straight lines with slopes

- A) -9920 and B) -5070 respectively

LA Calculate the activation energy at first

A) 54,294kcalmol’ B) 45,394kcalmol”
 ©)54382kealmol’ D) 63,200kcalmol’
"w What is the activation energy of the second?
A 15,000Calmol B) 17,000Calmol’

C) 1,000Calmol D) 23,200Calmol”

1. The rate law of a chemi i

B ! mical reaction was fi =K(4)™'

", m is the overall order of equation if xf ;md o b RTANR
A2 B2 Ol D) 3x-1 E)3

4 1 ™ '.,‘\: PRIVA m ‘
- AT OR/INSTRUCTOR IN ANY SUBJECT PLEASE CONTACT MAGIC (07032834137) PIN (75427413)
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21,

22.

23.
24.

25.

26.

. \ Shit ! 1 “B)0.Ishr' )¢ N
L e i N iy "
A) 19.19hrs equired for the reaction to go 90% A

- take for a sam

e the specific rate CONStAant? = wycrde SHE

B 19.18h : 0 1’ g e R wi-“_‘l: -
The half-life of g 1oyl oS C)19.17hrs D) 19.20hrs

A) 2638years B)3638years  C)4638years

D) 1638years E) 5000years

The ra.te law of a chemical reaction was found to be R=K(4)"* B’
What is the overall order of this reaction?

A)3/2 B)2 C)712 D)7 E) 1

In a zero order of reaction

A) The rate reaction is independent of the concentration of all the reactant

B)therate of reaction is dependent of the concentration of all the reactants
C) The rate of reaction is doubled

D) None of the above E) All of the above

Afirst order of reaction 25% complete in 30s. Calculate the rate constantk
A)9.956x107s" B)72.25" C) 144 4s" D)20s' E)22s"
Given the molecularity of the elementary reaction below

2NO + 0,~ 2NO,

A) Unimolecular B) Bimolecular

C) Termolecular D) Second Order  E) First Order

The ideal of surface area becomes insignificant in

A)An homogenous system B) Heterogeneous system

C) Particles with small size D) Particle with large size

E) All of the above

How can the rate of reaction be reactant as well as each product of this
reaction?

2N,0,—4NO0, + 0,

[A] R=-%d[N,0.}/dt="4d[NO.}/dt=d[O.}/dt
[B] R=-2d[N.0,}/dt=4d[NO.}/dt=d[O}/dt
[C] R=-2d[N;0,}/dt=d[NO.}/d=d[O;]/dt
(D] R=-1d[N;0,)/dt=4d[NO.}/dt=d[O;]/dt

ne of the above - .
RE geNcgnd order reaction is 24— product, what is the rate equation?

A)R=K,(A)  B)RZK,(A) C) R=K,(%4A)
D)R=K,(A) E)None of the above

radioactive isotope A is 1997years. How long does it | IL’-
ple of A to decay to 20% of its original radioactivity




articles with large size
gy QT 1A & .
fo v‘edthatﬁherateofthe ctor of
wa d by a factor of 1.5. What jg g,

: p;‘iods for a first order reaction what is fraction of

y1/5 C) 1125 D)1/32 E)2
B?wi'gaat haz)pe'ns to the rate of rea
e rate of reaction also increases
rate of reaction is quenched
ncentration increases
, )) The rate of reaction decreases

~ E)Allof the above ATt
32.  The slowest step in an elementary reaction 1S
~ A) Molecularity of a reaction

~ B) Order of a reaction

~ C)Rate determining step

- D) Elementary step
33.. - Which one of the following statement is a complete false description of the
rate determining step of a reaction?

A) It governs the rate of the overall reaction

B) Itusually corresponds to the height activation peak in the reaction profile
C) It correspond to the slowest stage of the reaction
Q),Jt necessarily involvqs the breaking of bonds in the reactant molecules
4. The rate constant of azoisopropane is 2.06x10”sec” at 27°C

%ﬁ?z :)1;: :;me Brequued for the reaction to go t095% completion

B # ) 1680.50secs  C) 1983.50secs D) 1382.50secs

o

ction as the reaction progress?

' "Iu‘ 15 9'0}’8. ars, Since 1 year i 9
7\“' j e £ ) y ar ls 31,536,000

Wwhere A is the rate constant
: pa eters we have

hec
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~ Option A
« The general form of rate low is given by rate = K(4)"(B)" where n and m

"
.

o OptionD o

 K=0.12hrs’

60056(:5, k=9
sd=x=] 00-40=60

tin - =
& the parameters in the above equation k= 1. 70x1¢/ 'sec’

g ; teizgocl;ents of the reaction and can only b? determined experimentally ?{’
;:i]:e r0 ??;3‘;251“? between rate constant ké&{}d half]ife, T,is giver} by: i @,
Option B o,
Since Arrhenius equation is given by _
In K=-Ea/RT + In A...equ | _ . o
LogK=-Ea/Rt+ Log A....equ2
Comparing with the equation of a straight line
Y=mx+c -

Y=Log T, m=-Ea/2.303R, x=1/T, ¢c= log A
M=slope=-Ea/R % v
_Ea=9920x2.303 x 1.987Cal ;
-Ea=45.394Kcal/mol ' tL - : P oo
Option D | | ., ~
M=-Ea/2.303R ; o s

Ea=23200cal/mol Ko

Option B

%3erall Order=Sum of order of rea
R=K(4)™"'[B]
Overall order=2x-1+x
If x=1, overall order =
Option C
A=16moles, a
In[a/a-x]=kt
In[16/10]=k x 10 |
K= 0.04705" ..

o

»

ction

=3x-1
3[1)-1=2

x=16-6=1 Omoles

TY4=5.7hrs

T st R PR
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,‘ In K =-Ea/Rt +constant
"~ gpK=-EaRt+InA....equ2
© 2303LegK=EaRt+2.303LogA
I “logK=Fa/2.303Rt+LogA.equ3 -
e - Combining equation 3 with equation of a stra
: Y=Logksm=-Ea/2.303R,x=1/T,c=logA
-~ Slope m=-Ew?2.303R
17.  OptionC
- Given slope m=-5070
~ M=-Ea2.303R | :
 Ea=23200Calmol
18.  Option C
- Second order k= R/[A]2
K= mol/dm3/s
| * [Mol/dm3]2
- =Movdmsfst ¢
19. Option C \
T'4=0.693/1997=0.000347yr"
If [A]=20/100 x {A],=0.2[A],
In[A]/[A]=kt
1/0,000347 x In[A]0/0.2[A]o
T=4636 s
20. Option
21 OptionA ¢
B ™22 ' Option A
Using k=2.303/¢ Log[ajﬁx]

A

ight line y=mx+¢

~ K=0.00959¢"'
)y '+ OptionC . ,. . &
;MOD B o ¥
on o
TUTOR/INSTRUCTOR IN ANY SHRIECY orchee usars sesnes samsn
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The rate determining or limiti . T -

i q } n 5 ’ : ; 1 ane

© reaction g step is the slowest step n@fe!
- Option B s

~ Option A

Question on Electrochemistry
Use the question below in ansyer
The next two question, | ‘
Find the Masses of product formed when a dilute Sulphuric acid solution is
electrolyzed with a current of 0.64 for 90 min (H=1.0,0=16, 5=32)
. Cathode L

(A)0.0226g (B)0.0336g (C)0.0446g (D)0.0446¢g (E) 0.0116g E
/- At the Anode ' ‘ i

(B)0.1686g  (C)0.3686g (D) 0.4686¢ (E) 0.0686¢

(A) 0.2686g
d when a dilute Sulphuric acid solution is

2. Find the Masses of products forme
electrolyzed with a current of 0.6A for 90 minutes 2 g
(A) Mass of H; formed is 0.0336g (B) Mass of Cu formed is 0.0336g 'A
(C) Mass of S formed is 0.0333336¢ | | 3
(D) Mass of Fe formed is 0.0336g (E) Mass of Zn formed is 0.0336g. g
4. ~+ Using Question three above . |
(A) Mass of Au formed is 0.
(C) Mass-of O, formed is 0.2686g (D

(E) Mass of Br; formed is 0.2686¢. | ; i
5. What is the Mass of Copper formed at the cathode when a current of 0.25A 8

is passed through a Copper(ii) Sulphate solution for 1 hour (R AM

i
B Cy=63.5) »
 (A)0296g (B)03588 (©) 0.581g (D)159% (E)0.578¢.
_ During the clectrolysis of Copper(®) tetraoxgsulphare (Vs
o b crode 0,16 i ¥opper was deposited on-the

i

2686 (B) Mass of H.O formed is 6.2686¢
) Mass of Cl, formed is 0.2686g

L

A it :;.;'f_rll'— =iy
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- 193000

G #=0.azz6g. -

TION A

‘ b.alf Reaction.

——> 2H,0+0,+4¢e

5500) ¢ berates (0.6x 90+ 60
7x96500

~0.2686g.
our website for solutions

=0.25A, t= hour = 3600 se

liberates 63. 5g Cu

) "I'Fl,uberates (0.25x3600
-2 - (2x96500

=026

! E ﬁ‘ic .

i
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Question on .Intermolecular Forces
has Intermolecular forces called 2
(A) KCI/ Vander waal (B)Co, Vander waal
(C) 0./ electrostatic forces (D) Cl, cohensive (E) None

Answer to intermolecular forces

1. OPTIONA
KCI has Intermolecular forces called Vander Waal forces

QUESTION ON CHEMICAL BONDING
Inter molecular Interaction including KCL is: ‘
(B). Hydrogen bonding - &
s (D) lon- dipole.
does not obey octet rule?
(C) SO, (d) BF,

1. The type of
(A). Dipole —Dipole

(C). Inter atomic force

v Which of the following

a) CH, (b) Nhy
3. The following arise as result of permanent dipole in a molecule except

A) Inter atomic force (B) Dipole Dipole Interactions
C) lon dipole Interaction (D) Hydrogen bonding

£ the following repulsion is greatest -!

4) In which o _
B) Lone pair, Lone pair |
t

A) Lone pair, bond pair

C) Bond pair, Bond pair D) None. 13
ontains coordinate covalent bond?

3, Which of the following €

: (A)Nh/ (B)Na' CL (C) CH, ¢D) HCL (E) all of theabove

’ fionic crystals and 1ayerérystalres-pect1vs@ i
e

are examples O
phite (b) HCL and diamond e

<8 and
(A) Diamond and gra

R APRVATETUTORTASTRUCOR
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(D) Double bond (E) All of the above

m lecule NH3 can from NH“ because_ :
B vacant p — orbitals to accept elections
I en can donate electrons to nitrogen
(C) The n,iggen atom has a lone pair of election
(D) All of the above | g
i -iﬂli%@isﬂi@uid at room temperature while H.S is a gas at the same
_ fwmeréfuré; the difference is a result of
. j " _ (A) Wéakef’hydrogen band in H,0 then H ,S
- d T(B)'Stron‘ger hydrogen band in H,0 then H.,S
: .1' ~ © Difference In atomic mass | 1
o (D) Difference In size forms Oand 5,

An element Y, has 5 valence electrons and forms a molecule Y.the what

as the band owner of the Y, molecule.
A1 B3 ©2 D4

In which of the following compounds is h

be least? '

- (A)HF (B)H,0 (C)NH | (D) PH,

- All chemical bands Indeed -

- (A)Centrifugal fore
(O Centripetal force
Metallic bond is an attracti
o gé)) f::;?pfll:%amogj) E(Ez tIr\;Iet;Sl_ tif)ns and delocalized.election cloud

B e BB o dipoe the st 1,y oo o Elements
= &L molecule is known as

RS 8 . (B) Permaners
- (D) Temporary

e s type of electrons

ydrogen bonding most likely to

(B) Electrostatic attraction
(D) Gravitational force
ve force between




20
.
4 i
" B
23.
24,
1.
2

 Decrease in Repulsion

bond pairs alone mundthe cemral a’tom 1
: .b@nds pairs alone around the central atom. -
(¢) 2 bond pairs and lone pair around the central atom

(d) 3 lone pairs alone afbund the central atom

n element x has 5 valence elections and forms a homo nuclear dlatomlc ‘
“macular x,. | A R

What is the bond order of x,?
R ) ) T T T e
Which of the followi ing molecular violate octet rule?
(a) HF (byH,0 () NH,
The type of bonding fond in NH, is khown as.
(a) Covalent (b) ionic (c) metallic (d) denture

The following are that affect the Strength of metalhc bond o
(a) Size of metal atoms | .

(d) BF,.

(e) aandb (d) none P

(b) No of valence electrons metals atom -
In which of the following is hydrogen bond is most likely to be strongest 1

(a) NH, (b) H,O (c) HF (d) HCL |
Molecules with permanent dipole are said to be _ |
(a) non polar  (b) bipolar (c) polar ‘ (d) apmti.c |
Answer to chemical bonding.
Option D
Option D ' ,
 violates Octet rule because it has fewer number of bond pair of electrons |
OptionA . — *
Option B :

Lone Lone>Lone Bond >Bond_Bond

Pair Pair Pair Pair Pair Pair

XTION AL

e

RE
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y have high meting and being point.
y are: Good conductors of electricity.

DPTION B i
 OPTION B e 1
:.Lf@:“'_’- ND "
~ OPTIONB ' *
OPTION B
'OPTION B
OPTION C " |
'OPTION C _ | B
~ OPTIONB » '
;OPTION D
" " OPTION B
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